t

ZEBIE
=5 x5
=28 o= o

g Al

A

- _ _ RE]
S C(BH) - HEAY - BAS %Eﬁ HR=2
ni: 4,530,761 10,810,427 3,720,334
= 4,617,217
Jl 2,502,816
= 2,043,905
Al 5,366,823
IIE=23 48 9,355,353 7,965,745 1,389,608
= 2,375,507
Jl 2,494 158
& 1,511,052
Al 2,974,636
HESH IS L A AAE 9,355,353 7,965,745 1,389,608
= 2,375,507
J| 2,494 158
o= 1,511,052
Al 2,974,636
OtM ot si=st Z2HEH 55,450 54,160 1,290
J| 21,710
o= 6,513
Al 27,227
201 ety 1,270 2,000 AT730
01 AFR 2t 2] 1,270 2,000 AT730
OIERXINE =8 2= MEH
7703 x5000H x23| 770
OJIERTMHE =& TIE H &
100, 000& *50H A % 13| 500
202 044l 4,560 3,520 1,040
01 2L Y| 4 560 3,520 1,040
OJIE=SX ¥ HLIJIEAMY D= MHOIU &A
60,000 *4H 3L x4 3| 2,880
O2=0 Al 22X 44|
60,000 *4H 2 x 13| 480
OCQCIMOI2 A X3AY S2FX |
60,000& x4 H x53] 1,200
203 €2 F=&d| 3,000 3,000 0
03 Al ZH =X 2= XH| 3,000 3,000 0
OWHEIE g2 =X 3,000,000& » 14! 3,000
301 LBt N = 3,200 3,200 0
09 HAIAHI X & 2 3,200 3,200 0
O 2E AIY =& BOIEDNg AKX
g Ak 10,000 x50 * 13| 500
OAAIE2H e 2 AHoIL &4
60,000& x15H x1L 900
OJIE9 & siA HAXEA
60,000& 30 x 1L 13| 1,800
307 212t0| ™ 43,420 42,440 980
J| 21,710




AN &8Iz
Hu: W= IS25 A
el WEE IS U HAHANE (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 6,513
Al 15,197
11T A EXAIEEX 43,420 42,440 980
O3s=E0lUsH 289 43,420,000 =100 A 43,420
J| 21,710
= 6,513
Al 15,197
AAINE - U23IIEXNHEH 29 562,720 388,800 173,920
J| 281,360
= 84,408
Al 196,952
307 QI2t0| & 562,720 388,800 173,920
J| 281,360
o=} 84,408
Al 196,952
11 A EXAIEEX 562,720 388,800 173,920
OHAUINE & URSHEH 2 (SeHH)
562,720,000& = 1JH 2~ 562,720
J| 281,360
= 84,408
Al 196,952
AJMCIISEHE SAHAL SEEEE 20,520 16,800 3,720
=} 8,208
Al 12,312
307 QI2t0| & 20,520 0 20,520
&< 8,208
Al 12,312
11T A EXAIEEX 20,520 0 20,520
OHICHIIEESHEH SAHA EE8 Y
90,000 19 1201 & 20,520
o= 8,208
Al 12,312
CIE23tE o8 ¥z K& 345,713 405,421 A59,708
101 21 214| 60,400 281,811 A221,411
04 JIZtHIZ22XNSES 60,400 281,811 A221,411
OE=Z00I2t4lD SEsEdMY 29 60,400
- Jl=22 57,000 »62 20«8 & 54,720
—=20AHZ 54,720,000 x4 .5% 2,463
—H2AEE 54,720,000 *3.23% 1,768
— 1284 54,720,000 *1.5% 821
— A EE 54,720,000 x0.873% 478
— A RAEE 1,768,000%8.45% 150
201 YEtS | 27,804 51,110 £23,306
01 AP 2t 2] H| 27,804 41,110 A 13,306




AN GEIEY
Hu: W= IS25 A
el WEE IS U HAHANE (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O2=0 & UIRsINEXNFEAs 23574
S 614,000& » 14! 614
OUZRaIE ESHYY E=1=
50,0003 «6H 12| «6H 2 1,800
OU2eIIE SSddY WHu
30,000& x6E 103 1,800
ONEZ=N YL 7 S2OHAY
8,000 «4H =102 «12& 3,840
OU=2aIE =08 Moty A 22t
10,000& 200 x 13| 2,000
Og=¢ & U23H=EXNAE2As 2FAF =
=4 100,000& 10 x 13| 1,000
OU=RINEFNHE 2I00H&SS 918 otatul0l
28 25 +¢ 30,0003 75«33 6,750
OOt U2 228w 23
10,000, 000& * 14! 10,000
301 LEd = 9,300 10,500 A 1,200
01 MI2EZE+06l= 7,500 7,500 0
OQ=o=82 HEOH Z20Y 29
250,000& x30H 7,500
09 HALAHIX A S 1,800 3,000 A1,200
OZell=0d 2a3uU=xE & 39 F4
10,000& 30 42 1,200
OUIsItE AAHEs slo FAX B4
10,000& »30H »23| 600
307 gl2tol & 248,209 12,000 236,209
02 IS AHE L 25,000 0 25,000
Os& U2sIHE MY s 22
25,000,000& =14 25,000
04 DIZHHALALSE E X 6,200 12,000 5,800
OA&ItE, th=23 &0t =M X2
6,200,000 » 14! 6,200
11T M SXAISE EX 217,009 0 217,009
OYEZwESMEIAXIA (XA
217,009,000 =14 217,009
Ch2st s X3 SHAY 450,418 326,813 123,605
J| 225,208
< 67,563
Al 157,647
307 21201 A 450,418 326,813 123,605
J| 225,208
< 67,563
Al 157,647
11T ALS S XAEE = 450,418 326,813 123,605
OYg=zus MUA X2 311,106,000 » 14! 311,106
J| 155,553




M HEIIED
B M= =28 A
el WEE IS U HAHANE (sl &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
= 75,660
Al 108,887
OsdHINHIA XA 27,509,000 » 14! 27,509
J| 13,754
= 4,126
Al 9,629
OXEANLYE X3 32,820,000 *14] 32,820
| 16,410
< 4,923
Al 11,487
O0IS0IIE 3T EAMY
28,325,000 » 14! 28,325
| 14,162
= 4,249
Al 9,914
ost=20 ns =29 20,009,000 =14l 20,009
p 10,004
< 3,002
Al 7,003
OC23ItE Atell 22l X& 30,649,000 141 30,649
| 15,325
< 4,597
Al 10,727
ROt HEold Ch230loind 2EAY 18,000 18,000 0
< 5,400
Al 12,600
307 glz2tol & 18,000 18,000 0
< 5,400
Al 12,600
11 ALSI S RAEE = 18,000 18,000 0
O0tole oelold =23t Ol 29
1,200,000& * 150 £ 18,000
= 5,400
Al 12,600
ZE0=0HE 42E20] 24 28,404 24,024 4,380
< 8,521
Al 19,883
307 glz2tol & 28,404 24,024 4,380
= 8,521
Al 19,883
1 AMISIAIEE XS 28,404 24,024 4,380
OZell=0d &2 =20 23
28,404,000 » 14! 28,404
< 8,521
Al 19,883
2E0UX NRAL(ZHASHENS) 11,100 8,400 2,700
= 3,330
Al 7,770
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AN GEIEY
M #=s Jx2s A
el WEE IS U HAHANE CEEEED
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 194,366
Al 453,521
01 MEI2BZE+06l= 647,887 650,887 A 3,000
OR2IE MH uwsdl XN&
10,000, 000& 14! 10,000
< 3,000
Al 7,000
O2E2ItE UM X3 A
637,887,000 » 14! 637,887
< 191,366
Al 446,521
OlsZ=sH S XA (SHRIIHE) 1,590,624 1,168,694 421,930
J| 1,272,498
< 159,063
Al 159,063
301 LEEAZ 1,590,624 1,168,694 421,930
J| 1,272,498
< 159,063
Al 159,063
01 MEIBZE 06z 1,590,624 1,168,694 421,930
O0tsL=H S XNE(8R2IH=E)
1,590,624,000& 14 1,590,624
J| 1,272,498
< 159,063
Al 159,063
OlsZ=sH NI (HLAHS22 TEAF) 36,140 37,405 AN 1,265
J| 28,912
= 3,614
Al 3,614
301 LEAZ 36,140 37,405 AN 1,265
J| 28,912
< 3,614
Al 3,614
01 MEIBEZE+05l= 36,140 37,405 A 1,265
OOtsSL=H XN (Ha4 SR RR)
36,140,000 » 14! 36,140
J| 28,912
< 3,614
Al 3,614
22 SXAE 29 185,187 179,547 5,640
< 32,008
Al 153,179
301 LEEHZ 8,520 2,880 5,640
< 2,508
Al 6,012
01 MEI2EZE+05l= 6,000 0 6,000
O2NIE=XANE E4T HEEHHS X
6,000,000 » 14l 6,000




P~}
#=s Ix2s A
g=s lE U olLAAME (sl &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 1,500
Al 4,500
12JEEd= 2,520 2,880 A 360
OSRELEXNAE SML S8 2,520
—ANEE 90,000 x1H = 1204 2 1,080
= 432
Al 648
— &g 120,000 1H 1201 & 1,440
< 576
Al 864
307 21201 A 176,667 176,667 0
< 29,500
Al 147,167
10 ALSISXAIEEE2GHEX 176,667 176,667 0
OOEEX =48 I8 29
176,667,000 * 100 2 176,667
< 29,500
Al 147,167
ANESSAT &g NS (GHRI2INESXAIE) 6,430 4,122 2,308
J| 3,215
< 965
Al 2,250
307 21201 A 6,430 4,122 2,308
J| 3,215
< 965
Al 2,250
11T MISAASEX 6,430 4,122 2,308
OANSEAALR AEXlg NA(SRI2IE=SXA
) 6,430,000& 14! 6,430
J| 3,215
< 965
Al 2,250
ol = Jts&HE= 40,000 0 40,000
< 20,000
Al 20,000
307 glz2+ol & 40,000 0 40,000
< 20,000
Al 20,000
11T MISRASEX 40,000 0 40,000
Oo0lgd= JIZ2H s=AY
40,000,000& =14 40,000
< 20,000
Al 20,000
HAS ZEIE 2D 24AH NAY 11,250 11,250 0
< 3,375
Al 7,875
301 LEBEAS 11,250 11,250 0




AN GEIEY
Hu: W= IS25 A
el WEE IS U HAHANE (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 3,375
Al 7,875
01 MEI2BZE+06l= 11,250 11,250 0
ONMAS Z&0tE SEI 24 NAY
11,250, 000& 14 11,250
< 3,375
Al 7,875
HEZHANE SAL BEx1S 3,800 2,400 1,400
J| 1,900
< 570
Al 1,330
301 LEAZ 3,800 2,400 1,400
J| 1,900
< 570
Al 1,330
09 HALAHIX RS 3,800 2,400 1,400
OI&ZAL AR B4 DS
3,800,000 » 14! 3,800
J| 1,900
< 570
Al 1,330
HEEHLMEL 2E A 122,201 114,191 8,010
J| 61,100
< 18,331
Al 42,770
307 glz2tol & 122,201 114,191 8,010
Jl| 61,100
= 18,331
Al 42,770
10 AL SXAIEEE2EH EX 122,201 114,191 8,010
ONYEANYL 2Y X
122,201,000 10 2 122,201
J| 61,100
< 18,331
Al 42,770
JHEEH TOlofl MEEX XA 3,000 0 3,000
< 1,500
Al 1,500
307 glz2tol & 3,000 0 3,000
< 1,500
Al 1,500
10 AL SXAIEEHE 2 H EX 3,000 0 3,000
OJNE=" Tl HEHX X3 A
3,000,000 =14l 3,000
< 1,500
Al 1,500
IYEY Do BSAlE 2N 205,633 140,689 64,944
J| 155,808




AN GEIEY
M #=s Jx2s A
el WEE IS U HAHANE CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 14,947
Al 34,878
301 LEAZ 39,550 12,000 27,550
J| 39,550
01 MEIBEZE 05z 39,550 12,000 27,550
OMNE =LA ESAE Hl==X &AL X
& 14,550, 000& 14! 14,550
J| 14,550
ONE="g ikt EsA4d 84X NHE3 K
& 25,000,000 =14l 25,000
J| 25,000
307 glz2+ol & 166,083 128,689 37,394
J| 116,258
< 14,947
Al 34,878
10 AL SXAIEEE 2 H EX 166,083 119,689 46,394
OJNE=YIGHH ESAE 29 X
158, 183,000 *1JH £ 158,183
J| 110,728
< 14,236
Al 33,219
O =™ Ilo X MgEatl
7,900,000 » 14! 7,900
J| 5,530
< 71
Al 1,659
NBEHES BESAN4 JIs22 X&E 10,352 0 10,352
J| 5,176
< 1,553
Al 3,623
402 RI2HX=20| A 10,352 0 10,352
J| 5,176
< 1,553
Al 3,623
02 QI EAIL B (01T S) 10,352 0 10,352
OMNMEEY B3ANE JIs22 X&
10,352,000& 14! 10,352
J| 5,176
< 1,553
Al 3,623
IHEES LA XzgsE 2208 XA 39,606 39,286 320
J| 27,724
S 3,565
Al 8,317
307 izl & 39,606 39,286 320
Jl| 27,724
< 3,565

Al 8,317




5 - 4
A FB B (EN) - HRAY - BES 0l &t o il HImEET
11T M SRASE EX 39,606 39,286 320
OJXXF=gIaii Xgsls 2208 XA
39,606,000 x 14! 39,606
J| 27,724
< 3,565
Al 8,317
FEH Ik 2=dl X 8,276 9,000 AT24
J| 5,793
< 745
Al 1,738
307 gl2tol & 8,276 9,000 AT24
J| 5,793
< 745
Al 1,738
11T M SRAISEEX 8,276 9,000 AT24
OJIE=Y Taix 2d=Hl X
8,276,000 » 14! 8,276
J| 5,793
< 745
Al 1,738
dZ4d Jtoff &t WEIIE Z208 24 12,459 13,845 A 1,386
J| 8,721
< 1,121
Al 2,617
307 gl2tol & 12,459 13,845 A 1,386
J| 8,721
< 1,121
Al 2,617
11T M SRAISEEX 12,459 13,845 N1,386
o= Dol A nA¥XE T2 29
12,459,000& 14 12,459
J| 8,721
< 1,121
Al 2,617
dEZ9 dgs 29 N 119,710 107,513 12,197
J| 59,855
< 17,957
Al 41,898
307 gl2+tol & 119,710 107,513 12,197
Jl| 59,855
< 17,957
Al 41,898
10 AL SXNAIEEE2EHEX 119,710 107,513 12,197
O848 dEA 29 XF 119,710,000 14 119,710
J| 59,855
< 17,957
Al 41,898
ZdMoi A X2sls T2 9,116 8,938 178




AN GEIEY
B M= =28 A
el WEE IS U HAHANE (sl &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Jl 6,381
< 820
Al 1,915
307 i+l & 9,116 8,938 178
J| 6,381
< 820
Al 1,915
11T MISXASEX 9,116 8,938 178
Od=Z"IdiA Xgzs T2 2Y
9,116,000 » 14! 9,116
J| 6,381
< 820
Al 1,915
AEZLIIoH A =28, 2tEH K& 9,152 8,265 887
J| 6,406
< 824
Al 1,922
307 glz2tol & 9,152 8,265 887
Il 6,406
S 824
Al 1,922
11T M Z2XAIS EX 9,152 8,265 887
Od=4 IoiA 2=Hl, 2tEH X
9,152,000 » 14! 9,152
J| 6,406
< 824
Al 1,922
SOHOHIGH A KIHAIE & gL 2EXE 385,461 417,788 N 32,327
J| 228,083
< 78,690
Al 78,688
307 glz2tol & 385,461 417,788 N 32,327
J| 228,083
S 78,690
Al 78,688
10 AL SXAIEEE2EH EX 385,461 417,788 N 32,327
O&OHOHIIoH Xt & & A 29 X
160,428,000 1 2 160,428
J| 80,214
< 40,107
Al 40,107
O&SOHOHOIGH Xt XI&AIE 29 K&
176,763,000 10 2 176,763
J| 123,734
< 26,515
Al 26,514
O0ts 3249 HOHOHIH XX MMEH 2
48,270,000 * 10 2 48,270
J| 24,135




AN GEIEY
M #=s Jx2s A
el WEE IS U HAHANE (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
== 12,068
Al 12,067
A OHOHIIoH A+ 2 R X & AHY 57,147 57,147 0
J| 40,003
< 8,572
Al 8,572
307 glz2tol & 57,147 57,147 0
J| 40,003
< 8,572
Al 8,572
11T M SRAISE EX 57,147 57,147 0
OSOHOHIIGH At R=XI& ALY
57,147 ,000& = 10 & 57,147
J| 40,003
= 8,572
Al 8,572
SOHOHIGHA X322 Js2d 5,420 10,930 25,510
J| 2,710
< 1,355
Al 1,355
402 QI2H X201 M 5,420 10,930 25,510
J| 2,710
< 1,355
Al 1,355
02 QI EAISEZ (01X THS) 5,420 10,930 A5,510
OSOHOHIIGH A XI&D|2 JlsE22
5,420,000 x 14! 5,420
J| 2,710
= 1,355
Al 1,355
HEsXA4E XA 31,492 21,132 10,360
< 12,291
Al 19,201
301 LEd = 28,440 21,132 7,308
< 11,376
Al 17,064
12 JIEtE &= 28,440 21,132 7,308
OWE=ZHAANE SML SE=Y
28,440,000 » 14! 28,440
< 11,376
Al 17,064
307 gl2tol & 3,052 0 3,052
< 915
Al 2,137
10 AL SXNAIEEE2EH EX 3,052 0 3,052
OWE=HLEIANE 2F It N
3,052,000 x 14! 3,052
< 915




AN &8Iz
M #=s Jx2s A
el WEE IS U HAHANE (B9 ®R)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
| Al 2,137
OlsHdotdXIgdiied 7,000 7,000 0
& 2,100
Al 4,900
201 gEt24dy| 7,000 7,000 0
= 2,100
Al 4,900
01 AP 22l H| 7,000 7,000 0
OlfsHeEaXNgEdl 9 I
7,000,000 =14l 7,000
= 2,100
Al 4,900
e MNgu=s =3ds L FEAA XN 72,000 72,190 A 190
= 28,000
Al 44,000
301 LBt A= 2,000 2,190 A 190
09 HAIAHI X & 2 2,000 2,190 A 190
OFYHAY LAl 2tets FAEA
10,0003 x200H 2,000
307 212t0| ™ 70,000 70,000 0]
o= 28,000
Al 42,000
04 SIZ2ISHAAISHE E X 70,000 70,000 0
OFY 4 LXxte erzs X
70,000,000& = 14! 70,000
= 28,000
Al 42,000
XA =HA 12,000 12,000 0
o 6,000
Al 6,000
307 212t0| & 12,000 12,000 0
=} 6,000
Al 6,000
11 A EXAIEE X 12,000 12,000 0
OWAd Fg, WA 24 12,000,000 14! 12,000
& 6,000
Al 6,000
AHdEHS A 64,220 79,692 N 15,472
201 B9 26,600 29,008 N2,408
01 AP 22| H| 26,600 29,008 N 2,408
OotpalengyE 2t AHl K= (2 A2)
600,000 20 A~ x12& 14,400
Ofotaleiyge 2t 2eldl XS(EH)
180, 0002 1 A x12& 2,160




2A: 41
M #=s Jx2s A
el B=E JlE U oMAAME (sl &2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OXNZ Uf dol= Zus 2A+2
450,000 x23| 900
O8dg8ded™It & HoX AMIANx 2AISE
500,000 x2H % 13| 1,000
OxgasEIlgds 29
100,000& *13Y 13| 1,300
OYHBESAS L I22849 2% =29
100,000& *13Y 33| 3,900
OLdHdHE 221 M 300, 000& =54+ 1,500
O1d ¢4 HdosSHsSE sy HE
5,000 *240H A~ %123 1,440
202 044 4,020 1,560 2,460
01 2L Hl 4,020 1,560 2,460
OYMBS AL OE SWX Y
60,0003 *3% 51 X| A 4 3,600
OWHERBITAXA X 0o
60,000 *7H 1 420
301 et A =2 3,600 3,600 0
12 JIEtE A= 3,600 3,600 0
OSSN SHSH ALY
30,000& x24H 53| 3,600
307 2izto| A 10,000 10,000 0
02 QIZFA AAIE E X 10,000 10,000 0
OxHdHSF=2H J|EHA 10,000,000& *13] 10,000
308 MXISHMSOIA 20,000 8,000 12,000
10 B 2SO USEAXNSE A 20,000 8,000 12,000
QHUHHE2BI &4 H 500,000 *20H *23| 20,000
MUHEH XNE2G(AD2) 458,528 441,279 17,249
= 324,914
= 40,085
Al 93,529
307 2Iz2t0| & 458,528 441,279 17,249
= 324,914
= 40,085
Al 93,529
11T A EXAIEEX 458,528 441,279 17,249
OMeEH~oE 123,000,000 = 14! 123,000
= 98,400
o=} 7,380
Al 17,220
OMEHEEH 9 A& 218,028,000 = 1Al 218,028
= 109,014
= 32,705
Al 76,309
OzxgdnNnssd 117,500,000 x 14! 117,500
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i ox
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ni

U
5=

J
J

il

J

=o 5
o 2

t
P_._ al

=

A

HAANE

[un St

SN HH-S(BN) - MBAY - B il HlnE2
= 117,500
LHEH SAA 2sH XA 29,600 21,600 8,000
< 13,200
Al 16,400
307 gl2tol & 29,600 21,600 8,000
< 13,200
Al 16,400
11 ALS S RAEE = 29,600 21,600 8,000
OMYHE SAA &sH X2
2,160,000& x10H 21,600
S 10,800
Al 10,800
OMZHLE & F=I8HE 6,000,000 » 14 6,000
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